Rook Endgame Puzzles

1 12 % !
2 8 E‘ 2
A D o 5 (R A

C>

A A A H

3
5 AeE
4 - & O

G Do
OMD;)@@

8 8 ZEE @%?‘ 8
H G F E D C B A H G F E D C B A H G F E D B A
1. Black to play 2. Black to play 3. Black to play
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4. Black to play 5. White to play 6. White to play
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7. White to play 8. Black to play 9. White to play
Answers:
1. Kc4, Ra8, Kb3 2.Ral+, Ke2, Rg2+, Kf3, Rxh1, Kxg2, c3, 3. Rxd3, Kb7, Rdd8, cxd8=Q, Rxd8, Kc7, Rf8,
Kxnh1, c2 Kd7, Rf7+
4.Rh2+, Kel, 3, h5, Re2+ 5. Rh1, Kxb5, Ke7, Kc4, Kf8, Kxd4, Kg8 6. Rxe4+, dxes, hb, Kf7, Kg3
7. Rxf8+, Kxf8, Kg4, g6, h4, Kf7, h5, Kg7, 8.93, Rg8, Rf2+, Ke1, Rf7 9.g6, Ra3, h4

hxg6



